Test #3 January 27, 2016

Graph #1; Wheel #1 Board #1 @0.125” Gap 257 RPM Resistance at ~6 ohms. This series of graphs is an example of pulse behavior for this RPM.
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Graph #2 Continuation of Test #3 at 60s/sec. Note the pulse width and transition in the subsequent graphs.
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into this behavior.

Graph 3 Continuation of Test #3 at 60 s/sec. Slowly morphing
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Graph #4 Continuation of Test #3 at 60s/sec.
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steady state of output for ~11.5 sec. Unusual!

Graph #5 Continuation of Test #3 at 60s/sec. Depicts a relativel
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Graph #6 Continuation of Test #3 at 3s/sec. Back to lower sampling rate.
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